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Part 1/ AT I
Mathematics / vfuTe

1. Statement1: Point of intersection of the | 1.  &&T 1: Taed 1 =4y & (P4 e
tangents drawn to the parabola x2=4y at (—4, 4) T Ei=t T8 oy
(4, 4) and (—4, 4) lies on the y-axis. foig y-a18 w feera
Statement 2 : Tangents drawn at the WIT2: TEAT " Fday F MEAS F
extremities of the latus rectum of the FHafagsti W @i+t T 5% 1 W
parabola x*=4ay intersect on the axis of yfa=se &t € 51
the parabola.
(1) Statement 1 is true, Statement 2 is (1) %, g7 29 ® ;YA 2,

true, Statement 2 is a correct e B

explanation for Statement 1.
(2) Statement 1 is true, Statement 2 is 19 %, FYT 29A ® ; HUA 2,
true, Statement 2 is not a correct 1T 9l = ﬂﬁ %i

<
explanation for Statement 1. g%

(3) Statement 1 is true, Statement 2 is 3) ®YT19A T, YT 2 A T
false. <7
(4) Statement 1 is false, Statemer@@@ (4) FHYT1ITF T, FIT 2 A ¢
true.
2.  The value of % 2. tan9°—tan27°—tan63° + tan81°
tan9° — tan27° — tan63° + tarBrN HHA T :
(1) 4 % (1) 4
2 3 @ (2 3
3 2 & 3) 2
4) 0 % 4 o0
3. If f(x)=|x| 7 where [ -] is greatest | 3. A f(x)=|x|+[x—1] R, 57& [ -] 7ew™ quis
integer iery/ then f(x) is : T ST &, @ f(x) :
(1 tiwous at x=0 as well as at (1) x=09Mx=1TF W Faqd g1
Zﬁnuous at x=0 but not at x=1. (2) x=0‘ﬂ#ﬂﬁ%ﬁx=1'¢(‘lﬁ%l
© oy at x=1 but not at x=0. (3) x=1T §ad § g x=0T & |
) neither continuous at x=0 nor at 4) TAAr=0W T T M AT & x=1W|
x=1.
%Page 2 SPACE FOR ROUGH WORK /1% @14 & e wmre
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4,

A class consists of 80 students, 25 of them
are girls. If 10 of the students are rich and
20 of the students are fair complexioned,
then the probability of selecting a fair
complexioned rich girl from the class
(assuming three traits as independent) is :

O 1
2 3
&)

(4)

The number of 4 - digit numbers with
distinct digitsis

(1)
(2)
(3)
(4)

504

4536
4634
5040

C
&
>

Each side of a squar asing at the

uniform rate of1 -\ S ter some time

the area of the

T e F 80 faeneff § fof 4 25 vt §)
7fg 10 farneft i ¥ e 20 ferameft &
T, O Fe ¥ v Tt Y o
! Wifasa (9% AT gY fe
wAAE) ¥

M éf

@ = Q
&

513

@)
(
)

311 aTelt 4 - 31 1 GEme, w e

504

4536
4634
5040

T &1 & T&® oo 1 W./Q. F w6
TR ® B IR B T & yvaw 79
g 8 5 HY./H. H WA WG W R, AW
gHg 9 & %m,aﬁnﬁaﬁ,%:

1 4
2 9
)
(4)

16
25

SPACE FOR ROUGH WORK /% %14 & fu wre
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If a chord of a circle x2+y2=4 with one
extremity at (1, /3) subtends a right

angle at the centre of this circle, then the
coordinates of the other extremity of this
chord can be :

M (-1,48)
2 (1, -V3)
@) (-5, -1)
@ (V3 -1)

Amongst the following functions, a
function that is differentiable at x=0is :

(1) cos(ie)~ q
@) cos(i) +Ix %Q
@ sin(x)+lx S
@ sin(x)-k @

1

+16y*=12, at

The tangent to

the point (1, érsects the curve

y2+x=0 x
(1)

Qters

Pa

%g

< x
@
<
two distinct points

one point

)

more than two points

afe 9 22+ =4 ® TF e, foww @
dfm f6g (1, V3) S TWF W
ARG LA ©, Al 39 a1 F G

¥ Frdures @ T ¥ - @

® (-1, v3) &%ﬁ
S

@) (1,—\/§)Q

(3) (~f@§

Ferl H ® 98 e S x=0 |
? R

cos(|x|) — ||
cos(|x|) +|x|
sin(|x|) + |x|

O

sin(|x]) - x|

&rfgE 322 +16y° =12 F faig

(1, %)Wﬁﬂﬁwmﬁyz+x=0
I T T :

e oft foig o =&
Fad T fag

< fafvm foigeti w0

A & e foigal W

1)
(2)
(3)
(4)

NY
%‘?age &
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10.

11.

p : Delhi is in India

(2

Statement 1 : Consider the statements

q : Mumbai is not in Italy.

Then the negation of statement p v g, is
‘Delhi is not in India and Mumbai is in
Italy’.

Statement 2 : For any two statements p
and q

~pvq@=~pv~q
(1)

Statement 1 is true, Statement 2 is
true, Statement 2 is a correct

explanation for Statement 1.

Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

Statement 1 is true, Statement 2 is

€)

false.

(4) Statement 1 is false, Statement

true. %ﬁi
A %\
If a and b are two vector

at

- — -3 -
2a +b=¢; and a + , where

— -5
e; =(1,1,1) and eLs (I -1), then
the angle betwe %tors a and b
is : ;

CoS

(1)

10. &97 1: Fr=fafas w9 w faar sifsa
p:ﬁ('_(’ﬁ‘mﬂﬁ%l

q: 4% 3ol 9 T 7
?ﬁﬁmpvqmﬁﬁumm%‘@ 3§
T qw qaE e H @

S

w72 PR %ff’m

AT © |

(2@ T T, HUH 2T ¢ ; HYT 2,
1% Tt = 798 2 |

&
@ FY7 1 9 §, FF 2 3790A T

iy

~<pvq>=~pv~
(1) &= %@ﬂﬂ 29 T ;HUA 2,

9&9 ) FEF 1 THA T, F 29 ¥

11. 3 2@ b AN TRWERF 22 + b = o,
— - — :\.,—>
T a +2b=e, 3, Tole, =(1,1,1) T

e = (1,1, -1)% R a7 b FATFTE
T

4)

SPACE FOR ROUGH WORK /7% &4 & g smg
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Using the fact that 12, dAO0<f(x) = gx),c<x<d=

0=f(x) =gkx),c<x<d= d d

q d [f(x)dx = [g(x)dx, & q@m Ie
If(x)dx < Ig(x)dx, we can conclude s &

C C

ﬁmﬁmm%dxm

mﬁﬁaa%,ﬁ@»\\lf

o (33 W (}&g
@ (2 V%) (

o (3

@) (4, 2430)

3
that IVS + x% dx lies in the interval :
1

@ (4,245)

dx

The integral | e % 5! 13. WJ—VW%
(a2 —bzxz@ (a2 —p2x2)?

(1) —-—f-———-+C

\]az —b? x?

x*

@ ~E +C 2 +C
2 b2 22 (2) az\/az —HZ 2

Q #
\ ax ax

a2 —b2a? o ©) Va? —b?%x? -
Q
(4) L E (4) 1 +C
a’Va? —b%x? az\/a2 — b2 a2

E/Page6 SPACE FOR ROUGH WORK /Tt &Td & fore wrrg
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14.

15.

Let f(x) =x*—8x+12, xe[2, 6].
S}atement 1: f'(c)=0 for some ce(2, 6)

Statement 2 : f is continuous on [2, 6] and
differentiable on (2, 6), with f(2)=£(6).

(1) Statement 1 is true, Statement 2 is
true, Statement 2 is a correct
explanation for Statement 1.

(2) Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

(3) Statement 1 is true, Statement 2 is

false.

(4) Statement 1 is false, Statement 2 is
true.

Leta,b,ceR,a>0 and functionf: R — R
be defined by f(x) =ax’+bx+c.

Statement1: b° < 4 ac = f(x) > 0,
every value of x.

Statement 2 : f is strictly de i e

, —b
interval (u oo, —8) and strielxinereasing

ER

-b
in the interval | —
{ 2a

tatement 2 is

(1) Statement BN
(.\ 2 is a correct

true, St %
explana@@r tatement 1.

(2) Stat is true, Statement 2 is
<& ;
fr arement 2 is not a correct
@% ion for Statement 1.

(BR\ St ent 1 is true, Statement 2 is

se.

Statement 1 is false, Statement 2 is -
true.

14. TF f(x)=x"—8x+12, xef2, 6] B

FAT 1: fFH ce(2, 6) F AT/ (0) =

WAT2: £ [2, 6] W Had & @
FTHET T TUT£(2) =£(6) B

(1)

13&'1?«!:% FUF 2 TF ¢
( |

%Wa,b,ceR,a>0%ﬁWWf:R—>R,

f(x)=.’=ucz+bx+cQTTIr it 2,

FAT1: b° <4ac= f(x) >0, x F Foft 7l

% fam)

mmz:fafm(_m, ;)ﬁﬁmmﬁ
a

.

%amm{Za,m)ﬁﬁmaW%l

(1) F19AE, FIT29F 8 ; F99 2,
HYT 1 H el FE B

(2) FY1TAE, FIT 2T T ; F9F 2,
FYT 1 ! &l AT TE 2 |

(3) ®UT1HA T, FUT 2 ATA B

(4) HUF 1A B, FUA 2 TA 2

N
N
&%;?ge 74

SPACE FOR ROUGH WORK / T% &1 % fag s/re
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16.

17

If the line joining points A(2, 0) and
B(3, 1) is rotated about A in anti-clock wise
direction through an angle of 15°, then the
equation of line in new position is :

(1) VBx—-y=23
) Bx+y=2J3
(3) x++By=2

4 x-By=2

z—7

Let L be the line x—4=y—2= >

and

P be the plane 2x—4y+z=7.

Statement 1 : The line L lies in the plan

line L are ;=1, my=1, n;=2
normal to the plane P are I @ ~4,
n,=1, and ], +mm,+ n% 1ds.

(1) Statement 1 is & ement 2 is

true, State is a correct
explanatio -» : ement 1.

ue, Statement 2 is

(2) Statem%
tru ent 2 is not a correct
& jon for Statement 1.
(3) %\mm 1 is true, Statement 2 is
. faJse.

Statement 1 is false, Statement 2 is

true.

16. af figali A(2, 0) 921 B(3, 1) 1 faem et
@ A F e ammed fawn § 15° i o
@ a1 % fegfa o gt €

9

iZ IS¥C x—4=y—2=¥ g, AP
2x—4y+z=7%l
(Ui

99 1: W@ LgHaa P ¥ feea §1

n,=2 % 941 ¥Hda P & afuds &

fem U I,=2, my=—4, n,=1, § a0
L1, + mym, +nyn, =0 T BT B

(1) FEF1HAE, FI 2T T ; FU 2,

FY9 1 ] UEI AR B

FIT 1 TT T, YT 2 TF ¥ ;AT 2,
FUT 1 HI & A T 7 |

)

(3) A 19 T, FUT 2 A T

(4) U1 IHA §, YT 2 A B

%ﬁ\%ge 8

SPACE FOR ROUGH WORK /1% &4 & feTu wig
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18. The total number of injective mappings | 18. T& ¥q=d, 94 m @99 &, ¥ @& 3=

from a set with m elements to a set with n =g, 59 n eEEw g (m>n)F
elements, for m > n, is : yfafasl %1 den

n! (m — n)!

! ol @
O T M s @

. il ! >
(2) (mIE n)! 1 e _ &7
3) af @) n" Q |
(4) zero (4) %

A Q
19. Ifayi=0,1,2,..,16) bereal constants such | 19. g at- sy 16) T8 arfas 3=
that for every real value of x, 4 r ® greafas AF & fau

(1+x+x2)8=a0+a1x+a2x2+...+a16x16, (1xx+ =a0+a1x+a2x2+...+al6x16
then az is equal to : R R

1) 502 % 502
2) 504 %
@) 506 C@
)
D

(4) 508 \\)

2 2 2
20. lim l[1+ B . o 1@%®+ 20. lim 1[1+ 2“ L e
n

n® + 17 n@ﬁ " no®n

=
N E|

@ .5
® 3
@ 7

SPACE FOR ROUGH WORK /1% &1 & e s1ig
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21.

22.

23.

24.

If the sum of first n terms of two A.P.’s are
in the ratio 3n+8 ; 7n+15, then the ratio
of their 12th terms is

1) 8:7

(2) 7:16

(3) 74:169

(4) 13:47

Two circles in complex plane are

Cq:|Z—i|=2

C, : |Z—-1-2i|=4. Then

(1) C4 and C, touch each other.

(2) C, and C, intersect at two distinct
points.

(3) C, lies within C,.

(4) ©C, lies within C;.

The differential equation

determines a family of circle

s
=

(1) variable radius and fi
(2) wvariable radius an% centre
(3) fixed radius and centre on
x-axis
(4) fixed radi iable centre on
y-axis
The reflect oint of the point (0, 3, —2)
in tke =2—y=2z+1is
(1) , —1)
42, 1, 4)
2 1,0
4) (0,0, 1)

21.

Ife < g9 Afed & v S F 9 H
124

3n+8 : 7n+15 1 AT E |
TS} H UM T
(1)

22.

ﬁﬁﬁﬂfﬁﬁﬁ%ﬁ'ﬂﬁ:

(1) T = qun % ffem g

2) e =R e aw dg of =W

(3) THfv=a oo aan =X &g § o x-3181 W
71

(4) TfeaSemaa I Ny-99 ™
H

24. T9= (0,3, —2) &1 W@

1= 2% ooy =+ 1R

1 (L2 -1

2 21,4

3 @10

@ 001

SPACE FOR ROUGH WORK /1% &1 & fere wmg
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25. If the mean of a set of observations

X1, X3, oy X179 is 20 then the mean of
x;+4, x,+8, X3+12, ..., X10+40 is

@
(2)
(3)
(4)

34
42
38
40

X ,
26. Let A= [: d]' be a 2x 2 matrix where

a, b, ¢, d take the values 0 or 1 only. The
number of such matrices which have
inverses is :

(1)
(2)
)
(4)

8

g O N

27. If 3, v and w are
satisfying 2{1+23@, then

P
3

o -
u — v| equals :

(1)
(2)
3

W |

q

€

25. AR VAW xy, x,, ..., %y F WLHT HT A
20 ], @ x;+4, 1,+8, 3412, ..., 1 {(F
FHIHA |
(1) 34 @@

@) 42.

| S
3) 38 &9
4) 40 Q

26. WFT A= | 2x2 ATYE & Wl
ab X@ 0#AYaT 18| TH TRl
H g 353\‘7‘1%,%:

» T8 uBE gfew €S
0 F Hgw F@ £ @

27. afg u, v @«

o911 + 27 + 3w

[ P
W =
o L
o Z
@ >

wge 11

SPACE FORROUGH WORK /1% &1 & fg wg
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28.

29.

30.

The sum of n terms of the series

l+§+Z+—+...is:
2 4 8

1) P=n==

@ 1-27
@) mne2 ™ =1

@ S@"-1)

If m; and m, are the roots of the equation

x? + (\/§+2)x -!—\/5—-1:0, then the
area of the triangle formed by the lines

y=myx, y=—myx and y=1is :
1(v3 +2
1) E\/g_l']
1(V3 +2
1{=V3+2 %
o 171 ©
1(—J/3+2 @
(4) E \/§+1 ] Q%ﬁ
he wvalue éf@? determinant
J"+J_ %§§}
\/10] is equal to :
O

(1) 6 —5)
- )@ESQJ‘—JQ

5(6 —5)
V3(J6 - \/5)

g

)

@%

P
N
i
N|s——-ﬁ

30.

4 16
(1) 2“—n—% @@
o e T

o
(€3]
—
N | =

—_——
N
S
R | =

R

Ji3+J3 245 5
JI5+4J26 5 10
3+4J65 15 5

(1)  5V3(J6 —5)
(2) 5v3(V6

®) 5(J6-5)

4)  3(J6 —5)

A TS :

%Page 12
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Part II / 9T 11

Aptitude Test / 3tfirefar wiigror @
Directions : (For Q. 31 to 36). The 3-D problem figure shows an object. Identify, i@ top

view, from amongst the answer figures. g@
FEYT : (W31 W36 & fAW) 1 3-D 397 aFfa 7 & avg 1 fa@ran 71 &1 ST §vg,
T S G T QQQ

Problem Figure | ¥97 3l Answer Figures / 3u¥ %’Q

(3) (4)

| ]
- % %ﬂ 2O é
(1) %§\ B @
S .
(@ _
32. @ L |:< N T [ —]
@ I e I [] | [T
&

(1) 2) 3) (4)
£
(1) ) 3) 4)
NPage 13 SPACE FOR ROUGH WORK / T T8 % 7T 7TE
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Problem Figure | F97 3TIHla Answer Figures | S STHadr

M) @ @Q @

Directions : (For Q. 37 and 38).
em figures 7

fdr : (w37 3iiv38 & Rra )1 @.)

( ”-‘" (sequence) T & e 2
Problem Figures / @ﬁ Answer Figures | SR SHaal

L
]
- a5 2] Y L H L

@ (1) (2) 3) 4)
o \{ § ; .

@ |
DB 26 ¢ @

1) @) ©) 4)
E/Page 14 SPACE FOR ROUGH WORK /% &4 & T wrg
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Directions : (For Q. 39 and 40). In the problem figures, A and B have certain relation. Identify,
which one of the answer figures, will have similar relation between C
and D 7

3T : (W39 340 & @)1 597 gl A 3B 4 U fAfved Gw= &1 FrT &3 -4
aar fAfvaT G, SR sslaal 4 9 fEad g ?

Problem Figures / %7 3?7??"/%27?' Answer Figures / TR

SEC RN ¥

(1) ()%

40. ' A 9 '.';7 @' . L

A B C D \@ (2) (3) 4)
@7

Directions : (For Q. 41 and 42). The prob
correct

e shows the top view of an object. Identify the
g, from amongst the answer figures.

fardl a5g 1 ST 59T [R@r T4 1 3 HFHiaal 7
TG 5 A

Problem Figure / 3?’-?'-1’ Answer Figures | S STHfral

> D A L
\@% v

(1) (2) €) (4)
%ﬁ%g& 15 SPACE FOR ROUGH WORK / T% & & fere s

Fder: (w41 3t & fomw )i
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Directions : (For Q. 43 and 44). Which one of the answer figures is the correct mirror image of the
' problem figure with respect to X - X ?

e (W 43 37V 44 & fog )1 S0 o & @ whaet sl & 78 797 Sl #=
gy qfafa &2

Problem Figure / 997 3Ihid Answer Figures / 3t 37]5‘:’/?/27?'

X

43, : | Q
) @ \@3 @
&

/3

44,

WAL @(

@) © @)

Directions : (For Q. 45) f the following answer figures, is hidden in the problem figure, in the

me size and direction. Select, which one is correct.
fer : (;r45% ﬁ#mmﬁ#@mm&ﬁrﬁwﬁmmﬁm
3?7?’7'7’# fert &1 @i o wel & gfg)

Problem &ﬂﬁﬁ'ﬁf Answer Figures | I it
('\
JQ y
@ —
A T S - <
N Py (1) @ (3) @
T’age 16 SPACE FOR ROUGH WORK / T @Td & feu srrg
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Directions : (For Q. 46 to 48). ~ How many total number of parallelograms are there in the prohlem
figure given below ?

ST : (W 46 W48 & o)1 #ﬁ#mwﬁ#m@ﬁ#wm@

Problem Figure | ¥ 311

1) 16 @) 18 3) @% 4) 20

1) 14 %€§2 (3) 10 @) 15

16 2) 14 3) 15 4) 13

“Page17 SPACE FOR ROUGH WORK /T% Td & fora w17Te
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Directions : (For Q. 49).  Which one of the answer figures, shows the correct view of the 3 - D problem
figure, after the figure is opened up ?

FE9T: (W49 F fT)1 3-D 997 a1pfa %) @ert W, 3¢ st 4 @ wﬁm@
Problem Figure / Answer Figures | 3t STHlaal @

&9@

E HASYE
-B  AF 1 g IF

%%@

1) (2@ (3) (4)
Directions : (For Q. 50 to 53). Ei d figure out in the problem figures given below :
& : (w50 @53 & farm )1 T 797 S § 9 a9 ala aard |

y\ﬁ
%
o, H—» @%«—l‘ }—» 1—{
(1) % @ G) @

(2) 3) (4)

SPACE FOR ROUGH WORK / T% &1 & feru smrg
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. ot 9 j o\_\

(1) ) ®)

Q-
2. Dy N @9@?

(1) (2) @G @% 4)
3

Directions : (For Q. 54 to 59). Find out the total nu Qrfaces of the object given below, in the
problem figure.
fgor: (¥.54 59 & forw )i WW??@?@%W#WW@T%W/

Problem Figure | F99 3IFld

54.

55. @u) 20 2 19 @3) 17 4) 18

56. 1) 14 @) 13 @) 15 4) 12

@ge 19 SPACE FOR ROUGH WORK /1% T4 & ferg smmg
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Problem Figure /| T 37hld

57. @ M 17 @ 18 (3 20 &
33@&;
58. % 1) 12 @ 14 (3@9@ @ 13
\@%
N S

1) 15 ) @@@ 3) 13 . (4 16

Directions : (For Q. 60 to 65). The 3 @m figure shows an object. Identify the correct front
‘ omhyamongst the answer figures, looking in the direction of

@ 0 st o o g a1 e e ¥ 2w g
T TEl Y@ 599 H IH P 4 & TEEg
Answer Figures / 3 SWW

N OV 0OV [JON
AR e

(2) (3) 4)
o
ﬁ ] 1 :‘ e jl/ b
% 1) 2) 3) 4)
Page 20 SPACE FOR ROUGH WORK /1% &4 & foTq wrg
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Answer Figures / ST SFfaar

Problem Figure | F99 3ITd

63
64.

(4)

)

(2)

(1)

SPACE FORROUGH WORK /1% & & T s
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66.

67.

68.

69.

70.

Winter Sun in the Northern Hemisphere
rises from :

(1) East

(2) North of East
(3) South of East
(4) South

Which one of the following is not a
matching set ?

1)
(2)
(3)
“)

Chandigarh - Corbusier
New Delhi - Lutyens
Stonehenge - Germany

Brasilia - Oscar Niemeyer

Who amongst the following is famous but
has not designed any building ?

(1) Gustav Eiffel

(2) Pablo Piccasso @
(3) Buckminister Fuller @
(4) Frank Lloyed Wright %@

Who amongst the foll§Wi a well

known Architect ? @

(1) F.D. Souza.
(2) Hafeez Co
(3) Nari Co%r@}?

Anjo% on
Tex® isNglated to which one of the
fo %
e

(4)
Surface
Weight

4) Shape

66.

69.

70.

et el F e o e @ S A 2

m ®
2 WHEIWI @

3) T ¥ @

(4) <fud

: 9 a wfag § aifed o freht sama &1
%—mﬂ?ﬁm?

frfefaa 3 & i wfes argfE §2

TFRE. ol
T HigRT
EEIGIRCIREE]

(1)
(2)
©)
4)

Hefa frefafes 9 & frad weifua ¥ .

Y.
g
Y
SHEIEY

(1)
(2)
@)
4)

\
%Page 22
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71. A house named ‘Antilla’ is recently built | 71. g ® 'sifeen’ ae wav feg®
in Mumbai for whom ? TANE? g Zs
(1) KRatan Tata (1) @A &
() Mukesh Ambani (2) HH e @ .
(3) Anil Ambani (3) e sfar @
(4) Lakshmi Mittal (4) el faaa &f
72. Which one of the following metal is | 72. B
generally used in the exterior cladding of ‘
high rise buildings ?
(1) Cast iron
(2) Platinum
(3) Aluminium
(4) Zinc S
73.  In which state of India is Hawa Mahal | 7 % % frm o9 § g wew fem ®2
located ?
(1) Gujarat @ (1) eI
(2) Rajasthan @@ (2) TS
(3) Maharashtra \\) (3) WENTE
(4) Jammu and Kashmir Q% 4) W 3R R
74. The windows in the w y\\@of the | 74. fv=di fer ¥ =+t g8 fasfeal =1, 9@ =t
building, can be best %from sun T |, frafafes & 9, 99 9 i fraq
rays by : & AT S Hehell §
(1) Horizontal rhajj 1) & s
(2) Vertical (2) @ g faafaet
(3) Roof (3) =R vt 88 (Projected) &4
(4) ]gro' (4) R el g (Projected) T&@
75. The | Salim Chishti is located at : | 75. §eftd fawd! =1 &0 el feord @ 2
( el Fort Delhi (1) e fren feedt
arra Imam Bara Lucknow (2) S THM dIE @IS
Chaar Bagh (3) =REM
SN )  Fatehpur Sikri (4) TRAE W
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76.

77.

78.

79;

80.

Which one of the following cladding
material, is best suited for sound insulation
inside an auditorium ?

(1)
(2)
@)
(4)

Plywood
Ceramic Tiles
Woollen Fabric
Timber Tiles

Which one of the following, is known as
‘Temple City’ of India ?

(1) Ahmedabad

(2) Nagpur

(3)
(4)

Madurai

Kanpur

Heat gain in buildings is best resisted by :

(1)
(2)
(3)
(4)

Large Windows
Exposed Roof
Cavity walls
Thin walls

@
N
The colour of a well baked t@
@)
&@

(2)
Escalators afe or :

Yellow
Gray

(3)
(4)

Purple
Terraco

(1) © w&ii

@)

3) izontal cum vertical movement
WNone of the above

movement only
ontal movement only

-00o0-

76.

7

(7

79,

80.

frafafes § ® S ©F FafEn (Fan #
Tl g31) e, Fiwad o i
eERIYT % fy 3w 82

(1) RES @

(2) =t e #t e
(3) A wmUL
(4) mﬁm

ﬁmﬁmaﬁ@ e’ ST

1)
(2)

(

@
ﬁwmﬁfrﬁ%mﬁmﬁﬁﬁ

ﬁ ], gaY o1fue 3fea €2
1) =< fasfEar
(2) FERT Ba
ekt st
(4) aet SEn
3To51 TE THE T I & 1 FE %’I?n 87
1) e
2 YU (gEy)
(3) S
(4) THRT (Terracotta)

TeEE (TEaeR) e forg v # e
g
1)
(2)
(3)
4)

Fae AR g F fog
Fae dfaw wfa & fau

&fasr o seafer wfa & fou
IR H 9 Tt nfq & fou 7

-00o-
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Read the following instructions carefully :

et (FEer e @ ug -

1. Part1 has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part IT Aptitude Test has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part 1I, one-fourth (Y4) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an
item in the Answer Sheet.

in t AR .; ation Hall. All cases of unfair means
will th as per Rules and Regulations of the
Board.

fof the Test Booklet, Answer Sheet and Drawing
hall be detached/folded or defaced under any
mstances.

Yhe candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

S

\.,

1. Yfirsr 3 w1 H wiftr 3 30 Sgfe v ¥ forad welie
w%ﬂém%ﬁqmmmﬁa‘fﬁa 3
97T 11 SAfer 90 § 50 I8 I \
T8 T % feg = (4) SH E ) gﬁ@m%
%ﬁﬂﬂ?fﬁ@ﬁdﬁﬁﬁﬂfﬁﬁ%l%‘
F I @ myﬂamaﬂﬁ%

2. Handle the Test Booklet, Answer Sheet and Drawing | 2.
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/ | 3. T{iag
writing work are to be done on the space provided for 3 T S ferE
this purpose in the Test Booklet itself, marked ‘Space q-,—{':'[ i ':h‘lﬁﬁ . il s S, ‘?ﬂ&-ﬂ
for Rough Work’. This space is given at the bottom of 2 il i fere e’ g
each page and in 3 pages (pages 25 - 27)at the end of the 8] Wémﬂﬁ"ﬂ | % TR W % W ATE
booklet. X m%eﬂaﬁsqﬁf(qus 27) WG T E

4. Each candidate must show on demand his/her Admit e 7 v THenel P H o vy s
Card to the Invigilator. )

5. No candidate, without special permission of @
Superintendent or Invigilator, should leave hiz; :@ Gﬁ’ﬁﬁﬁ 71 friters 1 fo ergafa & fa =18 qﬁ&’l’[ﬁ
seat. H S ABIR |

6. ?n completion of the test, the candldatgs 6. qten wom @13 T, wdendf Frdest w1 ad
eave the examination hall without handjs ; r eir i ] .
ﬂmbwerSheetofMathemathSandAptl leTosrFart I o - "WJ 17d stfvrefa qﬁw — WRT %1 ST 934 T
& II and Drawing Sheet of Aptltude J to the Ffvrele Therw-T I =1 3187 vie 37 ofi Sufeufa o=
Invigilator on duty and sign th e Sheet at T IO TR SEN F % mg} e T B
the time of handing over the s ¢s where a e : - s :
candidate has not signed th ce Sheet the T FTA I RANERS ;, TET ¥ite Tt
second time will be deemeg ve handed over et Tu § 58 srfed wem v Soft & R S |
these documents and de unfair means TteqTelt 3o wTE wre % ATS & Frene Sufafa s &
case. The candidates are alSeequired to put their left T T YT ¥1 ey adenef stoe
hand THUMB impzess{¢iixtheapace provided in the ﬁqﬁm_af A, gl . i 2
Attendance Sheet er, the candidates are i oo - IR I i g
allowed to take a em the Test Booklet of & wwA €|
g st -apetd eIl 7. SRR e e A1 T SR (34 fR

" e B S g e S o

8. The ggndi( ate governed by all Rules and 8. WiamemH . % ferg witeneft =S & L :
RegulaHy % Board with regard to their conduct g Frafaa &) sgfea wem wE & |9 T w5

e e & fraat ud fafrasi & srgam g

et off feafa 9 ohen giesr, 30 0 @ 37 e
F1E oft 9 A A over faman Str@m &R 7 & e W@
Frera fammre S |

T IR, ST 9T UE g7 v | <1 S ulve gient
T &1 qdee e aies ¥ et v o fae |
wigne grT wien e/ ® way e & faaw
w1 ufdal, IoR, ATETEe Wi, FeEeie ST 9T
fa:‘s’ﬁ&wmﬁwwﬁrﬁﬁaﬁ, wglgrwﬁaﬁ
arufa & ¥

10.

11.



trainer
Rectangle




